ECE300: Math Review Quiz 4
                                 Name__________________________


Integration Practice
In the following problems you should used the Fourier transform and inverse transform integrals:
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Try to derive your answers, do not just guess!
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Impulse Response

6) Find the impulse response of the system defined by 
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7) Find the impulse response of the system defined by 
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8) Find the impulse response of the system defined by 
[image: image44.wmf]()

5()(6)

dyt

ytxt

dt

+=+

, with IC of 
[image: image45.wmf](5)0

y

-=


a) 
[image: image46.wmf]1

()()

5

htt

d

=

  b) 
[image: image47.wmf]5

()(6)

t

hteut

-

=+

  c) 
[image: image48.wmf]5(6)

()(6)

t

hteut

-+

=+

  d) 
[image: image49.wmf]()0

ht

=


9) Find the impulse response of the system defined by 
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10) Find the impulse response of the system defined by 
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11) Find the impulse response of the system defined by 
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